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Tla CAGGAGAAGGAT---GGTAATACTGCGACGGAA-—--CT---TCCT----- AGAGAA--GT 44 T1a/T1b  QEKD--——-———mmmmmmmmmmmmmmmo GNTATELPREVVPEATEYGTKPDD 28
Tlb CAGGAGAAGGAT---GGTAATACTGCGACGGAA---CT---TCCT---—- AGAGAA--GT 44 iob
T24  CACGATOTEATAAGCOTEAT TARGGCCTGANGACTSGATCCTOATATAGGGATGET 60 123/T20 QDCDKGOLRPERLOPDIGOGSA I EDEVEVRSSRSSESTOSUPSEVTERDIQTD 4
T2b  CAGGATGGTGATAAGGGTGATTTAAGGCCTGAAAGECTGGATCCTGATATAGGGGATGGT 60 Nl IOy ot
T2C CAGGATGGTGATAAGGGTGATTTAAGGCCTGAAAGECTGGATCCTGATATAGGGGATGGT 60 : IR
E = = o E = 3 *KkKh Kk * K KKki *x kKX **x * X *x
T1a  AGTAC———— o m o oo oo oo 84
TID  AGTAC——— oo oo 84

T2a AGTGCTATAGAAGATGAGGTTGAGGTTAGATCTTCTAGGAGTAGTGAATCAACTGATAG 119
T2b AGTGCTATAGAAGATGAGGTTGAGGTTAGATCTTCTAGGAGTAGTGAATCAACTGATAG 119
T2c AGTGCTATAGAAGATGAGGTTGAGGTTAGATCTTCTAGGAGTAGTGAATCAACTGATAG 119

**k*k X

Tla -----—-—- CTGAAGCTACCGAGTATGGTACTAAACCTGATGAT 84
Tib -———————- CTGAAGCTACEGAGTATGGTACTAAACCTGATGAT 84

T2a CGTGCCATCTGAAGTAACTGAACGTGATGCTCAACGTGATGAT 162
T2b CGTGCCATCTGAAGTAACTGAACGTGATGCTCAACGTGATGAT 162
T2c [GTGCCATCTGAAGTAACTGAA B CGTGATGAT 150

Fhkdkkk **x K% **k K* Kk K*kkh KhkkAhkkikk



